17850 1/350
800mm 1,700mm 50%

- 800mm (
1,700mm 50%)

( ) 1,240km?
( 1,050km?(85%)
84km
13,000
27.3km?
3,000
400
11 ( )

) H10.9 H18.10

] 1/100 - 3
1/350 17450 7
1/850 -
400 7 — 50 1,200
250 = _ 2 (H17) 1,079 (H17)
- — / - w0 L s e 1,000
250 / - -~ 82 29 800
g / — Y30 ) 652
/ - ~ 600 - —
/ - 20 | wo L 7465 395
/ 338305
10 233
200
0 0

[} 1 [m} 2 a 3
b H12 (10.1% 30.9% | 59.0%
E m]
S60 16.9% | 31.0% | 52.1%

0% 20% 40% 60% 80% 100%




45

10

18

10

1 8 «C )
1,300m3/s( )
1
300

(
580m3/s( )
238
1,038ha

9 1 (
1,300m%/s

45 1

1,300m3/s
1,300m3/s

46 10 ( )
770m3/s
57 58
222ha

50 8 ( 6 )
700m3/s
3 37
23ha

54 10 ( 20 )
510m3/s
36 49
8ha

10 9 ( 5)
1,500m3/s
a7 150
310ha

12 9 «C )
1,180m3/s
12

13 9 ( 15 )
970m3/s
3
lha

18 10 « )
1,460m3/s
7
38ha

HWL  50cm
-

|
HWL 60cm

(m3/s)

24.0km
(89.7%)




1/100
- 1/100
1,900m3/s
- 34 18 (48 ) m12 1/100
1/100 1,190 1,880mé/s
T11.8  :120.3m/
¢ ) 1,550m%/s 2,100m%/s
1,300m/s( ) J 2 o 113mm/12h
1,300m/s ' ( 1/100)
(12hr) !
; +— 200
«— 1 b | /
1300 ™ T 200 () o I
i ¥ 546.11. 1 1,360 H
------ 4 150 : !
- l f I S50. 8.24 1,330 @
/s .L ;l m Ha4.9.12 1,690 ) =
—— T | ]
H6.9.21 1,780
1,300m*/s > 2 1 . "
1,559 . 2,100 H10. 9.17 1,860 ; 50 |
LA HI2. 9. 2 1,260 ! }
1R i H13. 9.11 1,190 |
H8.10. 8 | 1,880 ‘
2h ) ,-'? '
) $ ; {
- 45 ry J
(1,300m3/s) 18 i} ;r‘ i
- r? m—T T 12
5! TAMARSEAAHE 5
- 2 — R = }
300 2 # L ik 12 29 18 ’-"
- v MR RR R G3 ) F i T
' MRE RSN )J
g 200 El (E - B
$ ¥ A S 113mm e
________________ R 1 0% LTV AN DA L 3 rre i ' EN i
100 1 ’ INEMRERE 1/100 i ;u" :1“4
W) P! A i
’ S I . e
o (LR SETE S
§29 S32 S35 S38 S41 S44 S47 H2 H5 H8 H11 H14 H17 ® = ?EB“BE!”“ - :I:.lfhiIg-lﬁ
=S L. HEN
2000 = - [ . - : .
1500
1/100
£ 1000
500 m1/100 |
, 1,100 2,410m%/s 1/100
0 1, 900mé/s
10 9 17 o
3000 ° 3000 o 0 2400 ¢ g
2200 ¢ 2,100
|
e 2 2500 |~ . I 2,3200'/s | 5 2000 ! 1880 1890 o
e .
2000 1800 |
- 10 9 - o P00 2 o0 l S :
> > % E o
£ 1500 ) E1500 £ E 1550
12 9 60 1400 ° E g
1000 1000 | 1200 | 1,300 o
1,190 (o]
500 80 so0 - 1000 1,100
1,890m%/s , o 800
9/1 0:00 9/3 0:00 9/4 0:00 9/5 0:00 0 600 (12 ) H10
/15 /16 /17 o/18 w0 (534 H18) (S29 H18)  H12 9




1,900m3/s
1,900m3/s
|
60.0t ==
Ff— ( 19 )
50.0 —
40.0
~
E£30.0 KP7.0 .
 KP2.0 I
N
10.0 —
0.0 - v o
5.0
0.0 5.0 10.0 15.0 20.0 KP24.6 (H193 )
24.0km
24.0km
15.7km
8.3km

1,900m3/s

1,900m%/s

1,900m3/s
P — —
1,900 2,100

m/s




[ 7.0k]

[ 37.0k]

1/100

1/350 1/450

1/850

[ 37.0k]




- 85% 3,300ha

- 620kw

85%

m 3,300ha -
-

0.25m¥/s (3.1%) 0.03m¥s (0.4%)

0.03m°/s(2.5%)

0.03n%/s(2.4%)

e Y

0.25n°/5(20.3%)

0.91ms (11.6%) "~ .. ... \..\- .. 0.03m¥s,
(0.4%)

6.62m°/s (84.5%)

BOD75%

A L U B B o T B e e 1 | B

L e L e R PR i
=
o  Er— ] o
- {
|
|
'
b
- -
' | s -
g g g g P i 3 .
L e B R | S ¥
| LY |

S B maEmd meR
| A | @ MRS N
o == AN F

TR HP  NHK HP




- 3m?d/s
( 1/1 12/31)
(3.34m3/s) - (0.00m3/s) (0.00m3/s)
45 KP13.0
. o C K
x x 2
sy
Tl o "
@BOD75% ) 2 e F T lJr 1 i 1 L1 1 1
g S T T PP SRR EER R PPPRRI RN S
Vll- Ry EETELEEELEEEEEE) EEELETTPEEEETEEEEPEEE SEEED R A -
3.34m3/s .
1 1 1 ( 1 ) J Tl
0
0 5 10 15 20 25
A Kp
g ( ( ) ) 36 45 17 10 1 3.0md%/s
B KP7.0
“ ) A
_— 30cm
3.52m%/s
1;10 150 1(‘50 1%0
0 d
W 4!_
% 6 Y & L]
KP13.0 : ‘.KP? 0
v KP19.3 ( ) 9 = O

0.80m3/s

-
‘(
4
A
w
P
2
\'l
\"\.d-fx
e




[eleleloloNeNole o)

[oleleloNoNoNele o)

(elelololololole o)

«‘ 0Os44 H2 I |

[t THF=TAD

[ oH2 Hio @s4s 10

il n o
[F PO

10.0 15.0

24.6

OH10 H19 |

[ B I R =T g o

(m

—

HWI =13 . 66(m)

24.6

—HWL

19
10

)i —

4

— = )

) ill.

-50 0 50 100 150 200 250

 HWL=43.99(m)—
T

300 350 400

450

500

—HWL

19
10

-50 0 50 100 150 200 250

300 350 400

450

500
(m

£ 70 [

KP1.000(H10
KP1.000(H15

KP15.000(H10
KP15.000(H15
KP23.000(H10

) [
Yy [

)
i
)
)

KP23.000(H15
T
|
|
|
|
|

(

100.00 1000.00

(mm)

1,820m%/s

(m) Q

A

-0.11 0.00 1.00

KP 0.0

-50 50 150 250

0.5m




